KYMCO LIKE 50-125-150 2017-2020 Upper assembly sequence (Lh-Rh)

Art. 3280/A - 3283/LD - 3280/BE att.(3282/E)

1) bush 13x28
2) upper bracket (Lh-Rh)

3) washer 8x17

4) grower @8

5) bolt M8x50

6) nut M8 for fixing mirrors

3280/A

Rear view mirror fixation must be done using the external hole on the upper
bracket, fixing the OEM mirror support by provided nut M8 and grower

Lower assembly sequence (Lh-Rh)

1) bush 14x30

2) lower bracket (Lh-Rh)
3) washer 8x17

4) grower @8

5) bolt M8x50

Upper fixation on
Kol Bush 13x28

—_

Upper brkt Rh-Lh 1
Flat washer 8x17
Grower @8
Bolt M8x50

RNIRIM+ | N
P )WIN -

Lower fixationon |z oic hush 14x30

handle

Lower brkt Rh-Lh 1
Flat washer 8x17
Grower @8

3280[BE Bolt TE M8x50

| Fissaggio Specchi |[Grower @8
Nut M8 2

Trick for mounting process
During the assembly all components must be left loosen (not thighten anything).
Thighten a little bit once component per time, put the screen centered with the
head light , then thighten all definitively.

-

RN+ N
O (W (R =

o]




